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®2 MHEENETREMEESHEETHMNE XA

_ 5 of o7 [ K
TEE AR - BB A L
% TR
realmCode 1.1 | HIgARRE,"CN" AR E
” . R MHERL, B {E: @root="2.16.840.1.113883.1.3", (@extension="
type .
P POCD_MT000040"
templateld 1.1 | O ZRS OID, HH@ root="2.16.156.10011.2.1.1.15"
. F g5 K@ root="2.16.156.10011.1.1.1.4", T E &K% 5 BT DE01.00.008.
id 1.1 | . .
id/@extension /1 00
PSRV I AC R ORI, Hidh @code="HSDB04.04",
code 1.1 | @codeSystem="2.16.156.10011.2.4", @codeSystemName=""F 415 & 3£ 52 3 14
ik R
title 1.1 | SCRERRA, pbAby: FEMERERR B B TR %5
effectiveTime 1.1 | 3Gz A
confidentialityCode | 1.1 | STRYEEHAHD, HAH4 {H: @codeSystem="2.16.840.1.113883.5.25"
languageCode 1.1 | SORYE SRy, HPHEH: @code="zh-CN"
setld 0.1 | CESHS, HLLEBEBITHRIK. HEHRZH 4
versionNumber 0.1 | XA S
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QPR y
TE A S B 5 i e Bﬁfm”
recordTarget L s W‘%ﬁaiﬁ%ﬁi@%{%@ﬁ%,EEP@%%‘ (= .
@typeCode="RCT”, @ contextControlCode="0P
|--patientRole 1.1 | B, KA Ee classCode="PAT”
R ZERINS, HiihafEe
|--]--id 1..1 | root="2.16.156.10011.1.2", TiE/&K %S E T DEO1. 00. 009. 00
id/@extension H
|--|--addr L. 1 | FEEENE, HAEEEe use="H” Christ ik 251 14AS)
|--|--|--houseNumber Hhb- 1] 5 1Y DE02. 01. 009. 06
|--|--|--streetName BAERE-AT (B, B 5D DE02. 01. 009. 05
|--|--|--township Hil-2 (. #iEpFEA DE02. 01. 009. 04
|--|--|--county k- (X)) DE02. 01. 009. 03
|--|--|--city b1 GhIXD DE02. 01. 009. 02
|--|--|--state k-4 (BWERIX. HETD DE02. 01. 009. 01
|--|--|--postalCode 1| B DE02. 01. 047. 00
|--|--telecom x| BRARHE DE02. 01. 010. 00
: BENNEREE, Kb 8% Ee classCode="PSN” ,
[-~I--patient 0.1 @determinerCode="INSTANCE”
|--|--|--name L.x | B&EHH DE02. 01. 039. 00
author o | ORGSR, R ?tYEeCodez”AUT”,
@contextControlCode="0P
|--time L.1 | BV H DE06. 00. 024. 00
|--assigned Author L..1 | fEEtfEs, BE1E: @classCode="ASSIGNED”
feefenid | | MM FRIEE, JEHe root="2.16.156. 10011. 1.77
MEAAMG S E T id/@extension H
|--|--assignedPerson 1..1
|--|--|--name 0..1 | BEVEERA S DE02. 01. 039. 00
|--|--representedOrganization 0..1
BFEMISEITHFRIR, Hrp
[ 1..1 | @root="2.16.156.10011. .57, ik 8T
id/@extension H1
|--|--|]--name 0..1 | BEAEFIERALLHIR
|--|--|--addr MUk otk
custodian 1.1 | XCEENMEER, Hd sy EaetypeCode="CST”
|--assignedCustodian 1..1 | 418 : @classCode="ASSIGNED”
[--|--representedCustodianOrga | | FIEH BT Eﬁi%’i WARRE g AL NN, Hp
nization @classCode="0RG” , @determinerCode="INSTANCE”
SRR EETT HLAAR IR, o
|- |- |-id 1..% | @root="2.16.156.10011. 1. 6", T EMAK&HSE T
id/@extension H
|--|--|--name 1| RENI AR
|--|--|]--telecom 1| RN A
|--|--|--addr 1| RENU L
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|--parentDocument O I
|-c|—-id Cok | SRR IR AT
|--|--setld S| RS
|--|--versionNumber L | STERRAS
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|--section
code
mcod codeSystem Ll w 7 Fk &= RS, HrpedisplayName="Ft1j
--|--code ..
displayName A
codeSystemName
[-text Ny
—ontry B EI A
classCode
|--|--]--Observation H.A@classCode=" CASE 7, @ moodCode="EVN”
moodCode
codeSystem BEVBRREMRY, HAe codeSystem
codeSystemName ="2.16.156.10011.2.2. 17, @ DEO5. 10. 12
|-=|--|--|]--code 1..1 ] R ” - »
codeSystemName=" T 415 B &z ¢ H % 4.00
BE U7 7 AR EUE, HAPEvE{He
|-=|--|--|--value 1..1 | R Y
xsi:type="BL
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component FERE A E TR LER
|--section
T A e A ARG, Hh @
fcode code="11450-4", @
codeSystem="2.16.840.1.113883.6.1" ,
@codeSystemName="LOINC"
|--|--text N o
|--|--entry fa Bt o RIS %% B
/-[--|--Observation classCode HrP@classCode="OBS",
moodCode @moodCode="EVN"
codeSystem falk Py RIS & HAEE, H
deSystem="2.16.156.10011.2.2.1"
e eemcod d @codeSy: 2.2.
l-I- ¢ co eir};ls;emN @codeSystemName=""T {5 5 ¥4 7t H DE05.10.077.00
H:%H
faltk o A% HAREE, B, @
xsi:type="CD" ,
|--|--|--|]--value @codeSystem="2.16.156.10011.2.3.1.151"
, @ codeSystemName="H& P4} #1575 &
HfaRiE o AN R
|--|--entry FEAAERARTY
[--|-Observation classCode St @classCode="0BS",
moodCode @moodCode="EVN"
codeSystem FEAERACHS, HH,
deSystem="2.16.156.10011.2.2.1"
--|--|--]--code codeSystemN @codeSy o —
=l ear);lseem @codeSystemName=""T £ {5 S ¥ 7t H DE04.01.030.00
2:]{"
AR EUE, K, @
- |--value xsi:type="CD" ,
@codeSystem="2.16.156.10011.2.3.1.49"
, @codeSystemName="}& #{iERACID K"
|--|--entry H %0 73 45 ARG 26 B
|--|--|--Observation classCode Hr@classCode="OBS"
moodCode @moodCode="EVN"
codeSystem B &1 VT g RANED 2% B ARG, o,
deSystem="2.16.156.10011.2.2.1"
——|eef-|-cod ¢ @codeSy
|oc|-|--|--code codeir}lllseemN @codeSystemNamew T (5 S8R | DE05-10123.00
2:]{"
B &1 31T 45 A 2% B ARG E A,
@ code="DEO05.10.123.00" ,
|--|--|--|]--value @codeSystem="2.16.156.10011.2.3.2.32"
, @codeSystemName="[ %1 /73 25 AL
fi "
|--|--entry AR 2% H
|--|--]--Observation classCode Hr @classCode="OBS"
moodCode @moodCode="EVN"
codeSystem REARAR L 2% H ARG, o,
deSystem="2.16.156.10011.2.2.1"
e ee—cod d @codeSy: 2.2.
l-I- ¢ co eir};ls;emN @codeSystemName=""T {5 S ¥4 7t H DE04.01.070.00
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2 N % TR
A B | o | B MR L
O R R
MEHRIR B0 2% B AR IUE, Hth@
L xsi:type="CD", @ code="1", @
fel-l--l--value LR odeSystem="2.16.156.10011.2.3.2.33",
@codeSystemName="REAR & ML K"
|--|--entry BV IR &S BT RS & B
. classCode H@classCode="OBS"
[-<[--|--Observation moodCode @moodCode="EVN"
codeSystem BE VR S BTN 2R AR 2% H AR,
Horp,
|--|--|--|--code codeSystemN 1..1 R | @codeSystem="2.16.156.10011.2.2.1" DEO03.00.080.00
ame @codeSystemName=""T 415 244t H
E:KLH
BV R B B TEAN SR AR 2% H BUE,
H@ xsi:type="CD" ,
[-l-l--l--value LI R GcodeSystem="2.16.156.100112.3.2.34"
, @codeSystemName="7X & & AL FE"
|--|--entry s ThRe AN R H
. classCode H@classCode="OBS"
[--[--|--Observation moodCode @moodCode="EVN"
codeSystem L Th RGO /r FANRD 5% B ACRY,  Hor,
@codeSystem="2.16.156.10011.2.2.1"
[+-l--I----code codeSystemN | 1.1 | R @codeSystemName=""T*£ {5 B ¥z 70 H DE03.10.056.00
ame =
*EATHRETE Ly FAND 2 B HUAE, Horh
@codeSystem="2.16.156.10011.2.3.1.141"
[-l--l--|--value LR @codeSystemName="#t2> D BEIF 1. 73
FAH"
|--|--entry A A L N AN E R B
. classCode HH@classCode="OBS", @
[--[--I--Observation moodCode moodCode="DEF"
codeSystem MR B PPN AE & H AR, Hr,
@codeSystem="2.16.156.10011.2.2.1"
F-hf-code codeSystemN | 1.1 | R | & odeSystemName=" At {% BgEcH | DEO>-10:05700
ame =
TR TN AL 2% B BUE, @
xsi:type="CD",
——|-=|--|--value codeSystem="2.16.156. 2.3.2.35",
|--|--]--|--val 1..1 R deS "2.16.156.10011.2.3.2.35"
@codeSystemName="+% 2> Th & 15 WL ITAN
IMEES
|--|--entry RN KA 2 IR AR  H
. classCode HH@classCode="OBS", @
[--[--|--Observation moodCode moodCode="DEF"
codeSystem SN R AL S R 2R R 2% B AR
ﬁ% ’ ;H\: EF‘ ’
|--|--|--|--code codeSystemN 1..1 R | @codeSystem="2.16.156.10011.2.2.1" DEO03.00.023.00
ame @codeSystemName=""T {5 244t H
E:KLH
BRI R SR B AL 23 RS 2 ) A 2% H I
{8, HF @xsi:type="CD",
ffe-|o-|--value 1.1 | R | @codeSystem="2.16.156.10011.2.3.1.24"
, @codeSystemName=" % B P4 K 1 5H Xf
FEEAL SR AT &R
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TE LT it oA o ik TR A
| K atiii
fop entryRelations L1 | R | SRRSO (K0 %&H
-fo-||--[--Observation classCode Hrh
servatio moodCode @classCode="OBS",@moodCode="EVN"
codeSystem B KA SR . (k) AR,
E I:P ’
foefoefe|-}-|--code codeSystemN | 1.1 | R | @codeSystem="2.16.156.10011.2.2.1" DE03.00.022.00
ame @codeSystemName=""T /{5 2 44t B
;]:L("
el --value 1 SR FEE AL 2 R IR B (O BUE,
B H @ xsi:type="INT"
|--|--entry 1.1 KBUE A% H
. classCode H P @classCode="OBS", @
[~I--|--Observation moodCode moodCode="DEF"
codeSystem KBUEIACHS 2% B ARRS, HA,
L @codeSystem="2.16.156.10011.2.2.1" ,
|--|--|--|--code codeir};ls;emN 1.1 | R @codeSystemName="T1F {3 B 542 7¢ I DE03.00.017.00
H:(L"
KPEHAMERE, K, @
L xsi:type="CD" ,
[el-l--l--value LI R GcodeSystem="2.16.156.10011.2.3.2.30"
, @codeSystemName=" 8l F LIS R
6.4 (ERRSEET
6.4.1 {EBRSEETIRBIIM
Bt sk &7 2% B AR 10,
R10 (ERREETHFBHIR
% HARK B3 2R i
eSS TRUTe: 3= 0..* R2 O TR BB S
6.4.2 {EBRSEETITTREM
fEBE ST e R AL R L
x1 (EREETITEEAR
. B " X B FR) B35 76
LA Rtk . VL5 ik B
Ho| R BRI
component R L&A IR
|--section
code fERE s TR, HAF@code="11336-5", @
codeSystem codeSystem="2.16.840.1.113883.6.1" ,
|--|--code displayName 1.1 | R | @displayName=" HISTORY OF
codeSystemName HOSPITALIZATIONS", @
codeSystemName="LOINC"
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. £ |4 X X I i 70
TLR AR JE . Ui B iR e
o R PRIRSF
- f-text A
|--|--entry fERE S I H
) classCode $E1E, @classCode="OBS" ,
|--|--|--observation
moodCode @moodCode="EVN"
code . .
- FEBEAE AR, HorpdisplayName="1E B 1% i
displayName
|--|--|--]--code 1.1 | R | "@ codeSystem="2.16.156.10011.2.2.1", DE02.10.091.00
codeSystem T
@codeSystemName=""T4 {5 & 44 ot H %"
codeSystemName

|--[--|--|--effective Time AR UAT eI 8]
H A HE H@ codeSystem="

|--|--|--|]--value 1.1 | R | 2.16.156.10011.2.3.2.40",@codeSystemName="
BFAEB G HAG L

6.5 EWERETET

6.5.1 LWEREEBHEEMRK

S0 =R A BT A H M LR 12,
xR12 XRERESFHPZEENK
o HA B3 2R Eitipa
Bk A bR S % H 1.1 R PRAR R 2 T 32 S S A Bk A
Bk A H AR H 0.1 R2 Sk i BRI H B I8 H A RR S LA VR ik

6.5.2 SLWNEHRESZBITEHAR

SR = A B TR A ML,
R13 LRERESTTHITRER
_ ey . X I R B af
TER AR JE 1t LRSE 3o e
oo R TEhRIRTF
component S ERAFETRITE
|--section
code )
IR AT A B, HHr@code="30954-2",
codeSystem
|--|--code 1.1 | R | @codeSystem="2.16.840.1.113883.6.1" ,@codeSystemNa
displayName )
me="LOINC",@ displayName="STUDIES SUMMARY"
codeSystemName
|--|--text NESHIT
|--|--entry MR AR %E
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F= 13 (&)

B x| i 4 5L M0
TR AR JE N Ui B 5 iR I
| R TUARIALT
) classCode HrAr@classCode="OBS" ,
|--|--|--observation
moodCode @moodCode="EVN"
codeSystem PG AR, Hp
DE04.30.00
|--|]--|--]--code codeSystemN 1.1 | R | @codeSystem="2.16.156.10011.2.2.1", 8.0
ame @codeSystemName=""T*£ {5 B ¥ ¥z 6 H %" .
|-~|--|--|--value L1 | R | fBGENREM, i @xsitype="BL"
|--|--entry B k& R&H
, Hhih 48 [ @classCode="CLUSTER",
|--|--|--organizer
@moodCode="EVN"
|--|--|--|--statusCode
|-=|--]--|--component 1.1 | R | HBREEIUH
classCode
|-[--|-[--|--observation H P @classCode="OBS" , @moodCode="DEF"
moodCode
codeSystem Wk A AR, H
DE04.30.01
ool -|o-|--}--code codeSystemN | 1.1 | R | @codeSystem="2.16.156.10011.2.2.1", 0.00
ame @codeSystemName=""T" 415 5 24 7t H %" '
|-=|--|-|--|--|--effective Time 1..1 DE06.00.04
R | Hihks A H H
8.00
|<=f-[-[--|--|--value L1 | R | B AT H AR, o @ xsittype="ST"
f-b-beff-l--performer
|-=|-=|--|--|--|]--|--assignedEntit
y
|-=[--|-[-|-[--|-[--id
|-=|-=[--[--[--]--]--|--assignedPer
son
fobebefef---name } DE02.01.03
BN a4
9.00
|-=|~-]--|--component 1.1 | R | Wk &AL R%H
) classCode HrAr@classCode="OBS" ,
|--|--|--|--|--observation
moodCode @moodCode="EVN"
codeSystem WK EBESR, Hh
DE04.30.00
ool -|o-|--}--code codeSystemN | 1.1 | R | @codeSystem="2.16.156.10011.2.2.1", 0.00
ame @codeSystemName=""T" 415 /5 24 7t H %" '
|-|-|--|--|--|--value 1.1 | R | W &G HE R, H i @xsitype="ST"
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#3452 H UL 14,
=14 BHEDHZEHR
% H 47k ¥ Yok ik
o 245 2 AR A 0.1 R2 T2 37 v 24 4 2 AR A
%% H 0. R2 E T T 2 Rk P 2%

EE S eIt
x5 RAEDLTEMR
- " “ “ . X B )%
RS Rt g | 2 B0 5 ik TR
H TORR RS
component TR
|--section
A#EHRE, Hd, @
code="10160-0",@codeSystem="2.16.840.1.1
|--|]--code 1.1 R 13883.6.1", @displayName="HISTORY OF
MEDICATION USE ",
@codeSystemName="LOINC"
[text N
|--|--entry B A =]
) classCode A 1H, @classCode="OBS" ,
[--}--|--observation moodCode @moodCode="EVN"
code Ny ; . T gty
z':‘ﬂ& | 0, —" = .:—l—:{
displayName HZGIAN RS, JorhidisplayName="(EBEHL | o 00 16
|--|--|--|--code 1.1 R @ codeSystem="2.16.156.10011.2.2.1",
codeSystem deSystemName="T/k (5 ¥R e H R | 700
codeSystemName @codeSystemName= e R IUH >
HHE @ codeSystem="
|--|--|--]--value 1.1 R | 2.16.156.10011.2.3.1.157",@codeSystemNam
e="rh 25K ARG
|--|--entry %% H
|--|--|--substance Administratio classCode HH @classCode="SBADM",
n moodCode @moodCode="EVN"
codeSystem 2P SRS ARS, Hrh@ DE06.00.13
|--|--|--|--routeCode codeSystemName 1.1 R codeSystem="2.16.156.10011.2.3.1.158" , 4.00
@codeSystemName="H 2§ i& =L K"
|--|--|]--|--doseQuantity 1.1 R | BUHZGHE, HH@ uni="mg" DE0386500'02
|--|--|--|--rateQuantity 1.1 R | Zifi g%, HY@ unit="/H" DEO36(')%O' 13
|--|-=|--|]--consumable
|--|--|--|--|--manufacturedProdu
ct
|--|--|--|--|--|--manufacturedLabeled
Drug
|-=|-=[--]-=|--|--]--code 1.1 R
ool - -ame L1 | R | R4 DEOS 002
|--|--|--|--entryRelationship 0..1 FREIR MR H
. HAr, @ classCode="OBS" ,
[--|--|--|--observation @moodCode="EVN"
DE06.00.02
|#-|-|-[--|--|--code 1.1 R RZAHRATEATY 7600
o ovalue T2 A TE-T U, JEep

@codeSystem="2.16.156.10011.2.3.2.12" ,@c
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odeSystemName="/k Zjfk I PEARAL "
(@xsi:type="CD"
|--|--|--|--entryRelationship 0..1 R2 | HAAR RN RS H
|e<|o-|--|--|--observation HA, @ classCode="OBS" ,
@moodCode="EVN"
fefeeeefeo-f--code L | R | 2 R R &R DEQoA0-12
e e H Ak
|--|=-|=-|--|--|--|--precondition
|-=|==|=-|--|--]--|--|]--criterion
|==[=l==|==[=l=- |- |--value 1.1 R | HZA Rz Siks AR IUE
6.7 RERIFEET
6.7.1 BERTEETFEMK
fa FEVE Al 515 2% H A L3R 16
F16 BEITHEETFEMR
2% B 4 HEH ALY ik
BV A 2 0.1 R2 o PR 5 5 O B D
6.7.2 REITHETITREM
Pl BT R AR 1T,
®17 BRITEET TERAR
J& 4 Xof IS FR HHE o
JEE AR A B hid -
s R AT
component ﬁi%‘ﬁﬁ%fmﬁﬁ%
|--section
TEFEVTAN B TR, Hh @code="51848-0",
@displayName="Assessment note” ,
|--|--code 1..1 R ., ”
@codeSystem="2. 16. 840. 1. 113883.6.1" ,
@codeSystemName="LOINC”
|--|--text NS
|--|--entry RV 2% H
|--|--|--Observation H1@classCode="0BS”, @ moodCode="EVN”
BE VPRl &5 RARRE, Hre
|--|--|]--|--code 1..1 | R | codeSystem="2.16. 156. 10011.2.2.1” , @codeSystemName=" DE05. 10. 118. 00
PAAE RBEE T H 3
BEVTVT Al 45 RACDELE, Hhe
|-=[--|--|--value 1..1 [ R | codeSystem="2.16. 156. 10011. 2. 3. 2. 37", @codeSystemName="
PR s B B T PR AR R

T
FETFEMR
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fi REAR T 275 2% H BRI R 18
®18 EEIESETFBEAMK

K H A 24 AP ik
Hes e RS I G 0..% R2 X R SR A e R S 4 I ) 28 4 K
R tifE 1.1 R XA B R S i S

6.8.2 BEESEDTRERAR
e e fe S S R AR R 19,
F=19 BRIESETDTEREAR

B % \ it 0
TLER AR JE HA PAESE P e
W FRIRFF
component HFERSFEIIROER
|--section
code @ e S E A0, Hhecode="69730-0",
codeSystem @codeSystem="2. 16.840. 1. 113883.6. 17,
|--]--code 1..1 R , L,
displayName @displayName="Instructions” ,
codeSystemName @codeSystemName="LOINC”
|--|--text YNES:iTy
~entry HEST 1646 5 4
classCode Y, Y
|--|--|--Observation H.Ar@classCode="0BS”, @ moodCode="DEF
moodCode
codeSystem RS EARS, i,
| . DE06. 00. 060. 0
|--|]--|]--|]--code 1..1 R | @codeSystem="2. 16. 156. 10011.2.2. 17 ,
codeSystemName ., o ey — ” 0
@codeSystemName="_"E A {5 B 50 H 3¢
codeSystem MEHERE, HFe codeSystem="
|--|--|]--|]--value codeSystemName 1..1 R | 2.16.156.10011.2. 3. 1. 185", @codeSystem
Name=" % B & # it ARG K"
|--|--entry }%ET%E@TE%% H
classCode Y e
|--|--]--Observation Hrh@classCode="0BS”, @ moodCode="DEF
moodCode
codeSystem H,
) ) DE06. 00. 066. 0
|--|]--|]--|]--code 1..1 R | @codeSystem="2. 16. 156. 10011.2.2. 17 ,
codeSystemName ” o St ” 0
@codeSystemName=""EA {5 B 5 ¢ H 3¢
|--[----|--value .1 | R | BT FHUE, HPe xsi:type="ST”

6.9 HIBEWNET
6.9.1 HZEWETFBMM
B W= 5% H M U220,
®20 HLENETHFEMR
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E YGRS A 2R ik
Liars | 0.1 R2 HTHNEZ SR, Jra sl
6.9.2 HBEWETTEER
FrgilET o RAmR N ER2L.
xR21 HRBWETTRER
B ez . - B0 24
SERLH Rk ) el A o
oK TChRIRTF
component HS@WENIRITR
|--section
code ol AR, K @code="18776-1"
codeSystem codeSystem="2.16.840.1.113883.6.1" ,
|--|]--code 1..1 R )
displayName (@displayName="referal",
codeSystemName @codeSystemName="LOINC"
|--|--text NBEHR 5
|--|]--entry L% H
) classCode HA @classCode="OBS",
|--|]--|--Observation
moodCode @moodCode="EVN"
codeSystem b SN, Hrp
DE06.00.17
|--|--|--|]--code codeSystemName | 1..1 R | @codeSystem="2.16.156.10011.2.2.1", 4.00
@codeSystemName=""T"£ {5 B 44 6 H %" .
|--|--|--|]--value 1.1 | R | ¥%izhrdEfE, HP@xsitype="BL"
o HA @ typeCode="CAUS",
|--|--|--|--entryRelationship 0.1 | R2
(@negationInd="false"
classCode Horp
|-=|-=|--|--|--act moodCode @classCode="INFRM",@moodCode="APT",
negationlnd (@negationInd="false"
codeSystem R EANE, Hd
DE06.00.17
|-=|-=|-=]--|--|]--code codeSystemName | 1..1 R | @codeSystem="2.16.156.10011.2.2.1" ,@code 700
SystemName=""T4 & 2 ## 7o H %" .
|-= [ |- |- |- text NS &N
o-bebef=l-performer
|-=|-=|--|--|--|--|--assigned Aut
hor
o
ool -represente
dOrganization
. " DE08.10.02
|-~ |- [-=[~=]= |-~ |~|--|--name 1.1 | R | BANMEIEH
6.00
frolefeffeo--f---25Organ
izationPartOf

14
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oo whole

Organization

[-- |- === |- [-=[--[--]--]--na ; DE08.10.01
1.1 | R | BABEITHRLZ IR
me 3.00

6.10 TOXRBE RHFET
6.10.1 TORBEI RHET & BEHIR
T RBETT 2R 5% H R LR 22,
#22 TRBEHRHETHZBEMR

FHA R4 21K ik
TIRBEYTZHER H 1.1 R XF T B T I T2 AT 2

6.10.2 TRBEIFRAFETI TEAERK
T REE VT R R A K23,
323 TRMEHRHEETS TEAER

TE AL [ T A AR
* WEF

component Tﬁ'\ﬁiﬁwﬁﬁf;ﬁ%*ﬁfﬁ%
|--section
|--]--code 1.1 | R | FiREEV ZHE# AR
|--|--text NEEHR Y
|--]--entry NRBEV AR H

classCode HrpaclassCode="0BS” ,
|--|--|--observation e

moodCode @moodCode="DEF

codeSystem TR MY H B,
|--|--|--|--code codeSystemName | 1..1 | R | @odeSystem="2.16. 156. 10011.2.2.1”,@ | DE06. 00. 109. 00

codeSystemName=""T 415 B H¥E 76 H %~

|--|--|--|--value L.1| R | FkbEs HHME, Hrhexsi:type="TS"

15
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Mt R A
(FRMEMIR)
EMEHREERERS SR

<?xml version="1.0" encoding="UTF-8"?>
<ClinicalDocument xmlns="urn:hl7-org:v3" xmlns:mif="urn:hl7-org:v3/mif"
xmlns:xsi="http://www.w3.0rg/2001/XMLSchema-instance"

xsi:schemalocation="urn:hl7-org:v3 ..\sdschemas\SDA.xsd">

<realmCode code="CN"/>

<typeld root="2.16.840.1.113883.1.3" extension="POCD_MT000040"/>

<1 SRR 2 5 >

<templateld root="2.16.156.10011.2.1.1.15"/>

<G>

<id root="2.16.156.10011.1.1.1.4" extension="D2011000001"/>

<SR A-->

<code code="HSDB04.04" codeSystem="2.16.156.10011.2.4" codeSystemName="" /£ {5 5}
">

<title> L VEA 15 K8 B U7 IR 5-</title>

<effectiveTime xsi:type="TS" value="20111231154823"/>

E8" @ =T ITTUN

<confidentialityCode code="N" codeSystem="2.16.840.1.113883.5.25" codeSystemName="Confidentiality"

displayName=""1F & 15 [n] {7 % 2% 7] " />
<languageCode code="zh-CN"/>
<setld/>

<versionNumber/>

<recordTarget typeCode="RCT" contextControlCode="OP">
<patientRole classCode="PAT">
<I--fi B SRR T >
<id root="2.16.156.10011.1.2" extension="201102113366666"/>
<addr use="H">
<houseNumber>xx"5 xx//N X xx#kxx #. 76 </houseNumber>
<streetName>xx KiE</streetName>
<township>xx % #</township>
<county>xx[X </county>
<city>xx i </city>
<state>xx 44 </state>
<postalCode>510000</postalCode>
</addr>
<telecom value="010-87815102"/>

16
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<patient classCode="PSN" determinerCode="INSTANCE">

<name > 51 /> Bl</name>

</patient>
</patientRole>
</recordTarget>
<l--fEE->

<author typeCode="AUT" contextControlCode="OP">
<l RXRBEYV; H ] >
<time xsi:type="TS" value="20110404"/>
<assignedAuthor classCode="ASSIGNED">
<id root="2.16.156.10011.1.7" extension="234234234"/>
1B B>
<assignedPerson>
<name>% & 4 </name>
</assignedPerson>
<representedOrganization>
<id root="2.16.156.10011.1.5" extension="0187565656"/>
<name>xx & i </name>
<addr>xx X xx KAjxx"5 </addr>
</representedOrganization>
</assignedAuthor>

</author>

<R ->
<custodian typeCode="CST">
<assignedCustodian classCode="ASSIGNED">

<representedCustodianOrganization classCode="ORG" determinerCode="INSTANCE">

<id root="2.16.156.10011.1.6" extension="EHR BN % =" />

<name> T4 J&) i Fe A 22 L 0 </name>
<telecom value="0209837373"/>
<addr>xxff1iEi</addr>
</representedCustodianOrganization>
</assignedCustodian>

</custodian>

<relatedDocument typeCode="RPLC">
<parentDocument classCode="DOCCLIN" moodCode="EVN">
<id root="2.16.156.10011.1.1.1.4" extension="D2011000000"/>
<setld/>
<versionNumber value="1"/>
</parentDocument>

</relatedDocument>
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<component>

<structuredBody>

<\--BEV; AT >
<component>
<section>
<code displayName="}& 1 S £f"/>
<entry>
<observation classCode="CASE" moodCode="EVN">
<I--EPERE PR U BIAR &>
<code code="DE05.10.124.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T4=15 F $#5 7¢ H 3" displayName=""55 M} 159 5 215 Blbr & />
<value xsi:type="BL" value="true"></value>
</observation>
</entry>
</section>

</component>

<o~ A R ] B Y >
<component>
<section>
<code code="11450-4" codeSystem="2.16.840.1.113883.6.1"
codeSystemName="LOINC" displayName=""7- % {g Jj ] {5i" />
<text/>
<SR SE A ARE s O S M AT VA 3 SR 2R SR O P 0 A
-
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.077.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T£{5 & 44 7t H %" displayName="1& [ 14 73 A5 " />
<value xsi:type="CD" code="1" codeSystem="2.16.156.10011.2.3.1.151"
codeSystemName="H {445 #1255 3 fE b M 7 ARG R "></value>

</observation>
</entry>
<l K H: RRREIRACAS >
<entry>

<observation classCode="OBS" moodCode="EVN">
<code code="DE04.01.030.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T:{5 & H(4fi 76 H 3" displayName="## i tRACAS />
<value xsi:type="CD" code="DE04.01.030.00"
codeSystem="2.16.156.10011.2.3.1.49" codeSystemName="F% I 5iE R LG FK" ></value>

</observation>

18
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</entry>
<\ H: BRI GRS XAME B R 8RR AN B 45 RAE R 52 70 28 Y
ARG -->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.123.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="_ 415 B 7t H 3" displayName=""H %1 /1 PEA &5 BARIE " />
<value xsi:type="CD" code="DE05.10.123.00"
codeSystem="2.16.156.10011.2.3.2.32" codeSystemName=""H 1 JJ3FM & RACHL K "></value>

</observation>
</entry>
<l ZRH: BEHRRDL: AR DL A A >
<entry>

<observation classCode="OBS" moodCode="EVN">
<code code="DE04.01.070.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=" T {5 B #% 70 H %" displayName="HEHRAR " />
<value xsi:type="CD" code="1" codeSystem="2.16.156.10011.2.3.2.33"
codeSystemName="HEHR [F AL R " ></value>
</observation>
</entry>
<l-- % H: BEUIRE G BN AT BV R G & B PPN 45 AR E
Frp A -
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE03.00.080.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 4= 15 H 545 7¢ H 3" displayName="F# U & & H M PEAN 2940 HS " />
<value xsi:type="CD" code="1" codeSystem="2.16.156.10011.2.3.2.34"
codeSystemName="1X & 1HHLALIGE" ></value>
</observation>
</entry>
<l-- Z%H: A TIRERE L AN -->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.056.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="_ 415 B 7t H %" displayName="#L2 T E1E I 7AD" />
<value xsi:type="CD" code="DE05.10.056.00"
codeSystem="2.16.156.10011.2.3.1.141" codeSystemName="+t:£> T & 1% . 7> KA "></value>

</observation>
</entry>
<l & H: HThReE T AE-->
<entry>

<observation classCode="0OBS" moodCode="EVN">
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<code code="DE05.10.057.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="_ 415 B i 7t H %" displayName="+1< T & L 1AM AHE" />

<value xsi:type="CD" code="DE05.10.056.00"
codeSystem="2.16.156.10011.2.3.2.35" codeSystemName="#}2> T fe 15 L iFAM R AL K "></value>

</observation>
</entry>
<l 2% H: BN SEAL RN 2 A >
<entry>

<observation classCode="OBS" moodCode="EVN">
<code code="DE03.00.023.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="_ 415 B 7t H %" displayName=" 855 X FK i+t 2 B2 m S8 4L />
<value xsi:type="CD" code="DE03.00.023.00"
codeSystem="2.16.156.10011.2.3.1.24" codeSystemName="5 5 P& 57 XF K B2 AL 2= (B2 A 5 2%
"></value>
<entryRelationship typeCode="COMP">
<l 5 H BN SRR S IR CE-->
<observation classCode="OBS" moodCode="EVN">
<code code="DE03.00.022.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 4= 15 K $#5 7¢ H 3" displayName=" 5775 X 5K B2 4+ £ (520 EL" />
<value xsi:type="INT" value="3" ></value>
</observation>
</entryRelationship>
</observation>

</entry>

<l %H: KBUEHAS->
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE03.00.017.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T/£{5 & (#fi 7t H 3" displayName="J81 1% S AXAS"/>
<value xsi:type="CD" code="1" codeSystem="2.16.156.10011.2.3.2.30"
codeSystemName="K B [F AL FT "></value>
</observation>
</entry>
</section>

</component>

<1 o B>
<component>
<section>
<code code="11336-5" codeSystem="2.16.840.1.113883.6.1" displayName="HISTORY
OF HOSPITALIZATIONS" codeSystemName="LOINC"/>

<text/>
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<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE02.10.091.00" displayName="1F: ¢ %"
codeSystem="2.16.156.10011.2.2.1" codeSystemName="_F =15 B X4 ¢ H 3%"/>
<effectiveTime value="20111123"/>
<value xsi:type="CD" code="3" displayName="EEH {1 t, B A"
codeSystem="2.16.156.10011.2.3.2.40" codeSystemName="£ # 1T [5¢ 155 . AL %" />
</observation>
</entry>
</section>

</component>

<1-- S0 S A A >
<component>
<section>
<code code="30954-2" codeSystem="2.16.840.1.113883.6.1"
codeSystemName="LOINC" displayName="STUDIES SUMMARY"/>

<text/>

<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.30.008.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 E 4045 7C H %" displayName="4f B & 5 5 £ "></code>
<value xsi:type="BL" value="true"></value>
</observation>
</entry>
<entry>
<organizer classCode="CLUSTER" moodCode="EVN">
<statusCode/>
<component>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.30.010.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""TA4={5 5 445 7C H %" displayName="4f B & 5 1l H "></code>
<l--far U 1 -->
<effectiveTime value="20121201"></effectiveTime>
<value xsi:type="ST">%ti B & 11 H ik </value>
<performer>
<assignedEntity>
<id/>
<assignedPerson>
<name>/NZE</name>
</assignedPerson>

</assignedEntity>
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</performer>
</observation>
</component>
<component>
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.30.009.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 E 445 7C H %" displayName="4f B & 5 4% SR "></code>
<value xsi:type="ST">%#i B 2% 45 R4 ik </value>
</observation>
</component>
</organizer>
</entry>
</section>

</component>

<I-H#=ET >
<component>
<section>
<code code="10160-0" codeSystem="2.16.840.1.113883.6.1" displayName="HISTORY
OF MEDICATION USE" codeSystemName="LOINC"/>
<text/>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.164.00" displayName=""r 25 H]{CH5"
codeSystem="2.16.156.10011.2.2.1" codeSystemName="_1 =15 B 44} ¢ H 31"/>
<value xsi:type="CD" code="1" codeSystem="2.16.156.10011.2.3.1.157"
codeSystemName=""r1 24l F 25| LS K "></value>
</observation>
</entry>
<entry>
<substanceAdministration classCode="SBADM" moodCode="EVN">
<text/>
<routeCode code="1" codeSystem="2.16.156.10011.2.3.1.158"
codeSystemName="H] &= XL K" />
<!--H 250 8- ik -->
<doseQuantity value="20" unit="mg"/>
<\--HZHE >
<rateQuantity value="3" unit="X/H"/>
<consumable>
<manufacturedProduct>
<manufacturedLabeledDrug>
<I--Zjim AR >

<code/>
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<name>4 & WE R </name>
</manufacturedLabeledDrug>
</manufacturedProduct>

</consumable>

<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.027.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T£{5 & #(#fi t H %" displayName="H Zj W 52" />
<I-REARMNE-ARES 1 R
<value code="1" codeSystem="2.16.156.10011.2.3.2.12"
codeSystemName="fR 2k ALK " xsi:type="CD"/>
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.129.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T/£ {5 & (4 7yt H 5" displayName="Zj¥) A R Jx SibRE"/>
<!--HZ5EI1E -0 ->
<text>A ke, BILSEA R Bfifid</text>
<precondition>
<criterion>
<--FHZENERPRE  value="true" &K/~ f-->
<value xsi:type="BL" value="true"/>
</criterion>
</precondition>
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.135.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T. 5 5 ¥z 7t H %" displayName="2j4)fs7 F = 5| &"/>
<l-- YRR >
<value xsi:type="INT" value="30"/>
</observation>
</entryRelationship>
</substance Administration>
</entry>
</section>

</component>

<l fREEEE S >

<component>
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<section>
<code code="51848-0" displayName="Assessment note"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>

<text/>
<l--2% H . BRSO RE VT VAL [DOE T BV O A -->
<entry>

<observation classCode="OBS" moodCode="EVN">
<code code="DE05.10.118.00" displayName=""28 {4t 55 5 F BT PR
codeSystem="2.16.156.10011.2.2.1" codeSystemName=""F =15 B 44} ¢ H 31"/>
<value code="2" displayName="3E A f&g"
codeSystem="2.16.156.10011.2.3.2.37" codeSystemName=""E I} #1555 £ & BE VT IE M ALAS £
xsi:type="CD"/>
</observation>
</entry>
</section>

</component>

<l R SET >
<component>
<section>
<code code="69730-0" codeSystem="2.16.840.1.113883.6.1"
displayName="Instructions" codeSystemName="LOINC"/>
<text/>
<entry>
<observation classCode="OBS" moodCode="DEF" >
<code code="DE06.00.060.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="T. 5 5 ##% 7t H & "></code>
<value code="1" displayName=""F% il ff¢ & it {CH5"
codeSystem="2.16.156.10011.2.3.1.185" codeSystemName="4% 14 5% & & i {CHL % " xsi:type="CD"/>
</observation>
</entry>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.066.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T. 5 5 ##% 7t H & "></code>
<value xsi:type="ST">JE & & jifi 15 F:</value>
</observation>
</entry>
</section>

</component>

<\--F R -->

<component>
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<section>
<code code="18776-1" codeSystem="2.16.840.1.113883.6.1" displayName="referal"
codeSystemName="LOINC"/>
<text/>
<entry>
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.174.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 B &4 ¢ H %" displayName="4412F5E"/>
<value xsi:type="BL" value="true"></value>
<entryRelationship typeCode="CAUS" negationInd="false">
<act classCode="INFRM" moodCode="APT" negationInd="false">
<code code="DE06.00.177.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName="T. {5 B &% 70 H %" displayName="%%12 i [K]"/>
<text> i [A: WP VRIS, 9 175 0 B </text>
<performer>
<time/>
<assignedEntity>
<id/>
<representedOrganization>
<name> M £}</name>
<asOrganizationPartOf>
<wholeOrganization>
<name>xx & i </name>
</wholeOrganization>
</asOrganizationPartOf>

</representedOrganization>

</assignedEntity>
</performer>
</act>
</entryRelationship>
</observation>
</entry>
</section>
</component>
<l-- R R Uy T ->
<component>
<section>
<code displayName=""F /X i 1j H #1"/>
<text/>
<entry>

<observation classCode="OBS" moodCode="DEF">
<code code="DE06.00.109.00" codeSystem="2.16.156.10011.2.2.1"
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codeSystemName=""T: {5 & (#fi 7t H 3" displayName=""F Xk jj H "/~
<value xsi:type="TS" value="20110606"/>
</observation>
</entry>
</section>
</component>
</structuredBody>
</component>

</ClinicalDocument>
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